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1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before attempting the question paper kindly check that this booklet has total 20 pages & OMR Answer sheet consists of three copies. At the start of
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No. is left blank or more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be
an incorrect Q. Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, on
the OMR/Answer Sheet and on the Biometric Machine along with signature.

7.  Candidate should put his/her signature and thumb impression on the Admit Card attwo places in the presence of Invigilator in the Examination
Hall.

8.  Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener
etc, to smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of
candidates using Eraser, Blade, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be
cancelled.

9.  Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material as
mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination. Use of Eraser, nail, blade, white fluid/whitener etc., smudging, scratching or damaging in any manner the OMR
answer sheet shall lead to cancellation of candidature and such OMR answer sheet shall not be evaluated.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and Jammers
etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be
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allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace them.
Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three copies
to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to take
away this Test Booklet with them.

14. Each question has four alternative answer of which only one is correct. For each question, darken only one circle, which ever you think is the
correct answer on the OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening
the circle. If more than one circle is found darkened, that answer will not be evaluated.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.
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20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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Which Indian player has won the silver medal in badminton in Rio Olympic 2016?
(A) sakshi Malik (B) Sunil Narayan

(C) Saina Nehwal (D) P.V. Sindhu

o IRIT TS o §sffesT # Rio (R 30af@ae 2016 F 90 9SG ST g7

(A) Fmelr Afers (B) gfeler AARTIOT

(C) T gareT (D) drar. &gy

HDI stands for

(A) Health Department of India (B) Human Development Index
(C) Human Development Institute (D) Health Development Institute

HDI & 31 &I § ?
(A) Health Department of India (B) Human Development Index

(€) Human Development Institute (D) Health Development Institute

Who has won The Man Booker Prize of 20167

(A) Amitav Ghosh (B) Paul Beatty

(C) Chetan Bhagat (D) Nadeem Aslam
2016 T T g TEPR fohdad ST & 2

(A) 31fFAaE a9y (B) die Scér

(C) I HaTT (D) FEH 3rEeH

India is situated north of the equator between
(A) 8°4't037°6' (B) 10°4'to25°6'
(C) 11°4'to57°6' (D)5°4't027°6'

AT AT & 3R AT H oot 3RTM &F S &7 AT § 2
(A) 8°4' & 37°6' (B) 10°4' & 25°6'
(€ 11°4' ¥ 57°6 (D) 5°4' & 27°6'

Which state has launched Lakshya Bhagirathi Campaign ?
(A) Gujarat (B) Odisha

(C) Chhattisgarh (D) Arunachal Pradesh

forer ToT o T AR AT Fr YBINA F E ?
(A) FRIT (B) 3nfsem

(C) TeTE (D) 3TTUTIST YeRT

Question Id: 1

Question Id : 1

Question Id : 2

Question Id : 2

QuestionId: 3

QuestionId:3

Question Id : 4

Question Id : 4

QuestionId : 5

QuestionId: 5
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The Indian Medical Council (Amendment) Bill 2016 is concerned with
(A) Provide medical education in state languages

(B) Uniform entrance examination for admission to all medical education institutes
(C) Licence of Medical shops
(D) None of these

AR FAfecar aitwe, (GiesT) At 2016 fadr defia & 2
(A) I Fr AT FH Rfescar AT YeleT e |

(B) T3l Rafchcar e Txum=it & qifler & folv vhaArT gaer gdeT
(C) Rfecar greT o sy
(D) 3y & P Far

Arrange the words given below in a meaningful sequence:

(a) Elephant

(b) Whale

(c) Dog

(d) Tiger

(A) (b), (a), (d), () (B) (a), (b), (d), (c)

() (b), (c), (d), (a) (D) (d), (a), (b), (c)

o faU 1T real s 3QUT shA I AT TSI

(@) @

(b) &

(© =

(d) =

(A) (b), (@), (d). (c) (B) (a), (b), (d), (9)

(©) (b), (), (d), (a) (D) (d), (a), (b), (c)

Find the missing term.
1125297
(A) 870 (B) 866

(C) 588 (D) 576

e Ug I AT |

1125297
(A) 870 (B) 866
(C) 588 (D) 576

Question Id : 6

Question Id : 6

QuestionId: 7

QuestionId : 7

QuestionId: 8

QuestionId: 8
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A

Which cube matches the given?
(A) (B)

5
(€)

W

| PR

FTTET RUICT AT @ar g ?

QuestionId : 9

s "G
(€) h’ (D) h’
QuestionId: 9
10. If SIDE=26-16-11-12 then ROLE=?
(A) 24-22-18-12 (B) 25-22-19-12
(C) 25-22-18-12 (D) 24-23-19-12
QuestionId : 10
10. If¢ SIDE=26-16-11-12 df ROLE="?
(A) 24-22-18-12 (B) 25-22-19-12
(C) 25-22-18-12 (D) 24-23-19-12
Question Id : 10
11. Complete the series.
6,8, 12, 20, 36,?
(A) 66 (B) 58
(€) 63 (D) 68
Question Id: 11
1. HoT quT RFST |
6, 8, 12, 20, 36,?
(A) 66 (B) 58
() 63 (D) 68
Question|d: 11
12. If A={3,4,5}, B={5,6} and C={6,7,8}, find n[ A x (B ~ C}]
(A) 5 (B) 3
€ 4 (D) 2

QuestionId : 12

12. Ifg A={3,4,5}, B={5,6} 3ik C={6,7,8}, @ n[ A x (B ~ C)] 7T Hfaw |
(A) 5 (8) 3
(€ 4 (D) 2

QuestionId : 12
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13.

13.

14.

14.

15.

15.

16.

16.

The largest 4 digit number exactly divisible by 88 is:
(A) 9944 (B) 9768
(C) 9988 (D) 8888
Question|d: 13
88 ¥ qUTeT: TIeey Well 981 TR (4) el & F&AT §
(A) 9944 (B) 9768
(€) 9988 (D) 8888
QuestionId: 13
The product of two numbers is 4107. If the H.C.F. of these numbers is 37, then the greater number is
(A) 101 (B) 107
(€) 111 (D) 185
Question Id : 14
oY FEAI3 T UGS 4107 ¥ | A 3T WA N FgaH FAGAE 37 @Y, A 9 HEAr §
(A) 101 (B) 107
(© 111 (D) 185
Question Id : 14
The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m, then its area is
(A) 1520 m? (B) 2420 m?
(C) 2480 m? (D) 2520 m?

QuestionId : 15

Toh R HT o650l ASE 7 23 m & 3k ¢ | Il 3T 9k 206 m @, dF 3T &a%el giem
(A) 1520m? (B) 2420m?
(C) 2480m? (D) 2520m?

Question|d: 15
It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if
200 km is done by train and the rest by car. The ratio of the speed of the train to that of the car is:
(A) 2:3 (B) 3:2
(C) 3:4 (D) 4:3

QuestionId : 16

600 Thall S T # 8 TUC o1 g, af 120 frell ¢oT I a2r hr &l IR &R & o fohar Se | It 200
forall &7 & T ST T T FR F el W 20 Ao M0 oora § | o @ aifd & R & arfy & 3regra
&
(A) 2:3 (B) 3:2
(€) 34 (D) 4:3

Questionld : 16
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17.

17.

18.

18.

19.

19.

20.

20.

The age of father 10 years ago was thrice the age of his son. Ten years hence, father's age will be twice that of his
son. The ratio of their present ages is

(A) 5:2 (B) 7:3

(€) 9:2 (D) 13:4

QuestionId : 17

10 a¥ vger T & 37 397 93 & 3 I o | gl & 10 A ae, e Hr 37y g7 & 3G F gIew gl |

3o I 3R T 3T &
(A) 5:2 (B) 7:3
(©) 9:2 (D) 13:4

QuestionId: 17
In a regular week, there are 5 working days and for each day, the working hours are 8. A man gets X 2.40 per hour
for regular work and X 3.20 per hour for overtime. If he earns X 432 in 4 weeks, then how many hours does he
work for?
(A) 160 (B) 175

(C) 180 (D) 195

Questionld: 18

T AT aedg &7, 5 F Rag § T v o F v FF gew 8 "oe § | v afFd A FEfAa sy
& forw T 2.40 9far guer dor 3eR-esA & fow T 3.20 Ui °ver 9ied giar ¢ | IfG a8 4 %l & T 432 ured
T &, o 35T fohdlel GUC S foham ghem ?

(A) 160 (B) 175
(€) 180 (D) 195
QuestionId : 18
Electrolysis of water produces hydrogen and oxygen in the ratio
(A)1:2 (B) 1:3
(€ 2:1 (D)3:1
QuestionId: 19
aelt o1 faegd-31aeies fohe 3igdicT # gIsgiol 3N RISkt o1 3cdleeT el & 2
(A) 1:2 (B) 1:3
€ 2:1 (D) 3:1
Question|d: 19

Which gas is generally liberated when acid reacts with metal?
(A) co (B) co,

(C) No, (D) H,

Question Id : 20

S U8 e & A SRR FR § A9 QAT el 8 3G Ferel Bl § 2
(A) CO (B) co,
(€) wNo, (D) H,

&

Question Id : 20
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21.

21.

22.

22.

23.

23.

24.

24.

Digestion of food in human starts from
(A) duodenum (B) small intestine

(C) mouth (D) large intestine

AleTd 7 sl & GreieT el & YE Bl & 2

(A) 3rgofr (B) B i
(© e (D) <& 3
Which part of plant involves in Translocation?

(A) Phloem (B) Xylem

(C) Cortex (D) Pith

9T & et AT fFEAT TAAROT H AT § 2
(A) wFeiwa (B) SSeid

(C) sFréag (D) F=aT

When a ray of light enters a transparent medium it undergoes change, it is
(A) Frequency only (B) Wavelength only

(C) Wavelength and velocity both (D) Velocity and frequency both

ST YR Fr fHROT IRER ATH F YIRT R § o 3T SEAa/aRaded 3T § | ag I g ?

(A) aer 3TfT (B) heel TRIIGE

(C) aEneedr 3R 1 (D) &1 3R 3R gt

The magnification of an object placed 10 cm from a convex mirror of radius of curvature 20 cm will be
(A) 0.2 (B) 0.5

(€)1 (D) infinity

Teh g 20 B ghll TS dTel 3eer G801 & 10 T g & 918 § o 38 30T gham
(A) 0.2 (B) 0.5

() 1 (D) ¥l

Question Id : 21

Question Id : 21

Question Id : 22

Question Id : 22

Question Id : 23

Question Id : 23

Question Id : 24

Question Id : 24
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25.

26.

27.

28.

29.

ENGLISH LANGUAGE

Pick up the word from the choices which is close to opposite (antonym) to word asked :

Swell
(A) Strange (B) Diminish
(C) Sympathy (D) Enlarge

Pick the word from the choices which is close to similar (synonym) to word asked :
Shallow
(A) silly (B) Abtute

(C) Superficial (D) Soft

Pick one word for the following expression :
A professional rider in horse races
(A) Joey (B) Jargon

(C) Jockey (D) Junta

Choose the alternative which best expresses the meaning of underlined idiom/phrase.

The old father brought home the moral of unity by asking each of his sons to break the bundle of sticks.

(A) Voiced (B) Declared
(C) Emphasised (D) Suggested
Let’s play volleyball.

(Fill in the blank)

(A) no article (B) the

(€) a (D) an

Question Id : 25

Question Id : 26

Question Id : 27

Question Id : 28

Question Id : 29
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30

31.

32.

33.

34.

35.

B o

. TAEET QA T AT QI8 §
(A) S & for =X

(C) WS A =W

TP UAsE & AT §

(A) TREPR

(C) 39T

IR 2 7 39T §

(A) 371

(C) 37

€ & Hg H SN - cleplfad & 31§
(A) 3 & g & S g

(C) Y =T

T TAT g - T AT I &
(A) Ter ST AT |

(C) 31 TeIr ST |

S T FS AN § - AR F AT W e ¥
(A) F&=T
(C) IR’

(B) WS H W
(D) 5 IR =W

(B) 39%R
(D) foier

(B) iy
(D) 3

(B) 3c = IiRT Qe
(D) sgeT 2t

(B) Iy & |
(D) 33 T § |

(B) 31cqet
(D) FArar

Question Id : 30

Question Id : 31

Question Id : 32

Question Id : 33

Question Id : 34

Question Id : 35
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36.

36.

37.

37.

38.

38.

39.

39.

Which state of India bagged the Best Horticulture State award?
(A) Haryana (B) Odisha

(C) Rajasthan (D) Gujarat

N glicehot] TC H [WEPN AR § o T &l THer?
(A) gRamom (B) 3fifser

(C) TS EIT (D) IGRI

In which of the following division of Haryana most districts are there?

(A) Ambala (B) Gurgaon

(C) Rohtak (D) None of these
gRAOT % fha Hser 7 waifte fSter €2

(A) 37aTe (B) I3t

(€) Jgaw (D) ST & HIS AT
Who is the Home Minister of Haryana?

(A) Ramvilas Sharma (B) Captain Abhimanyu
(C) Manohar Lal Khattar (D) Rao Narvir Singh
gRAOT 7 3¢ HAT et 82

(A) TAfGemT o= (B) et A=y
(C) FAG el WX (D) J@ AR g
Who is the present Chief Justice of Punjab and Haryana High Court?

(A) Sanjay Kishan Kaul (B) A.K. Sikari

(C) Jasbir Singh (D) S.J. Vazifdar

Use 3N gRAOT =2 ~ArIerd & STl HET ~arreher et 82
(A) TorT oI aieT (B) T, fAsdr

(C) JHeR &g (D) TS afeher

Question Id : 36

Question Id : 36

Question Id : 37

Question Id : 37

Question Id : 38

Question Id : 38

Question Id : 39

Question Id : 39
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40.

40.

41.

41.

42.

42.

43.

43.

Match the lists and choose which of the following option is correct :

List-1 List-11
1. Rakhigarhi a. Regal Crown
2. Kunal b. Ploughed Fields
3. Banawali c. Largest Indus valley site
(A) 1-b, 2-a, 3-c (B) 1-c, 2-a, 3-b
(C) 1-a, 2-b, 3-c (D) 1-c, 2-b, 3-a

R & fAelet Y 3N oot 3 & &8 fahod & ot RIfaTT

-l -l
1. TE@EET a. 9T F3A
2. FoTo b. ST g3 ¥
3. el c. T &3 Y = Tl
(A) 1-b, 2-a, 3-c (B) 1-c, 2-a, 3-b
(C) 1-a, 2-b, 3¢ (D) 1-c, 2-b, 3-a

Sufi Saint Boo Ali Shah Kalandar was born at

(A) Panipat (B) Thaneswar

(C) Hansi (D) Kaithal

A T el ATE FoleX T Sl G3TT AT

(A) 9T (B) iR
(€ g (D) SRerer
Where is Bhima Devi Temple Complex situated?

(A) Kurukshetra (B) Hisar
(C) Pinjore (D) Rohtak
(A) e (B) O
() TSR (D) Jgas
Chhilchhila Wildlife Sanctuary is located in which district?

(A) Kurukshetra (B) Ambala
(C) Gurgaon (D) Hisar

SISl 3T S 3P¥RIRYY 59 fSor & g g2

(A) e (B) 3faTe
(C) zalia (D) feam

Question Id : 40

Question Id : 40

Question Id : 41

Question Id : 41

Question Id : 42

Question Id : 42

Question Id : 43

Question Id : 43
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44.

44,

45.

45.

46.

46.

47.

47.

48.

48.

Which city was renamed after “Guru Dronacharya”?

(A) Ambala
(C) Kurukshetra

I QO % A & R e H G AHROT 32

(A) 3f&TelT
(€) W

(B) Gurgaon
(D) Sonipat

(B) Irsalia
(D) AT

Who is the most popular Ragini Singer of Haryana, also known as ‘Surya Kavi'?

(A) Pt. Lakhmi Chand
(C) Manish Joshi Bismil

gRAOT % Helifrewr TGy ARG 3 Sl §, oo "G &l & o & o Sl Sier g2

(A) U. @A I
(C) 7AW Sl efeAer

(B) Kishan Lal Bhat
(D) None of these

(B) RIS Tl $11€

(D) ST & IS =TT

Headquarters of Western Command of Indian Army is located at

(A) Hisar
(C) Panipat

HRAT FAr 3 el s 1 Feared d §

(A) BER
(C) g9

BILT Football stadium is situated at
(A) Kurukshetra

(C) Ambala

BILT Gesiel wf3aa foud &
(A) Feer

(C) 3fdTelr

Who is famous humorous poet of Haryana?
(A) Pt. Neki Ram

(C) Surender Sharma

gRaoT & IRy & Fia FiT &7
(A) 9. a1 TH

(€ gl o=

(B) Chandi Mandir
(D) Ambala

(B) =& AfY
(D) 31dTeT

(B) Sonipat

(D) Yamunanagar

(B) el
(D) FHAFR

(B) Pt. Lakhmi Chand
(D) Pt. Shri Ram Sharma

(B) U, or@e# I
(D) 9. SRy e

Question Id : 44

Question Id : 44

Question Id : 45

Question Id : 45

Question Id : 46

Question Id : 46

Question Id : 47

Question Id : 47

Question Id : 48

Question Id : 48
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49.

49.

50.

50.

51.

51.

52.

52.

53.

53.

Who had set the Feudal League in Haryana?
(A) Sir Chhoturam (B) Neki Ram

(C) Pt. Sushil Sharma (D) None of these

ERAT H F5eT (SRR 9T T TG fohder hr?

(A) T BIIH (B) =¥hr I

(C) d. gRfer 2r#AT (D) 57 & FIS T

Which districts of Haryana are chief producers of Turmeric?

(A) Hisar and Rohtak (B) Ambala and Yamunanagar
(C) Panipat and Kurukshetra (D) None of these

gRAOT & geT & 97T 3culesh ol &

(A) RER g Agas (B) 37Tell T JHATR

(C) 9=l T e (D) 3 & IS 7

Bronze medal winner of Rio Olympics 2016 Sakshi Malik was born in which village of Rohtak?
(A) Mokhra (B) Bhansru

(C) Sudana (D) Siwana

ﬁzﬁmaﬁqwzomé?rmmﬁmmmwmﬁma;ﬁmﬁaﬁgaﬂm

(A) ArEwr (B) #rEe

(€) Ferm (D) T&amT
In the First Battle of Panipat Ibrahim Lodi fought against

(A) Akbar (B) Humayun
(C) Babur (D) Hemu

AT & FIH e H Ssliga ofiar fohdieh faveer oisr ar?

(A) 3/RsR (B) g

(C) sy (D) &9
Famous singer Sonu Nigam was born in which district of Haryana?

(A) Ambala (B) Rohtak
(C) Kurukshetra (D) Faridabad

mﬂm@qﬁmﬂmm?m%ﬁﬁw
(A) 37FaTeT (B) g+

(€ Fwm (D) wierare

Question Id : 49

Question Id : 49

Question Id : 50

Question Id : 50

Question Id : 51

Question Id : 51

Question Id : 52

Question Id : 52

Question Id : 53

Question Id : 53
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54.

54.

55.

55.

56.

56.

57.

57.

58.

58.

In which one of the following places Kalpana Chawla was born?
(A) Karnal (B) Panipat

(C) Faridabad (D) Gurgaon

Question Id : 54

el IIdell T SleH ﬁmﬁr@aﬁ@rﬁmwwgeﬂm

(A) FTTer (B) grefiae
(C) wlcmEe (D) et
Question Id : 54
‘VVande Matram Yojana’ is associated with
(A) Soldiers (B) Farmers
(C) Women (D) Freedom Fighters

Question Id : 55

Jo;, FIRA ISt S TG &
(A) &t & (B) framit ¥
(C) ARemT & (D) EdFar Al &
Question Id : 55
During examination of the abdomen auscultation should be done prior to percussion and palpation because these
procedures may
(A) Alter the bowel sounds. (B) Alter the secretions of abdomen.
(C) Alter the distention. (D) Alter the presence of fluids.

Question Id : 56

U & GUBTUT & ERIeT IRAEUT & &Ry TEra/dRassT 3R aRee & g9gor foar serm anfge =ilfes ag gfsane

(A) 37iT T 3T Seol ool ¢ | (B) 9 % ¥1T o &l § |
(C) Yo o SgeT & &l (D) TReT Y & IURAfT # Feema @l gl
Question Id : 56
The one of the side-effects of anti-biotics which may cause the malabsorption syndrome is
(A) Changing the normal food intake. (B) Changing the normal flora of the intestine.
(C) Changing the normal intake of fluid. (D) Changing the normal structure of the intestine.

Question Id : 57

Ufeearifee &l hisl AT goTTd HTERINOT HoRRTUT T HRUT ol Tehell &7
(A) THT HISTT HdeT Sl AET deelell (B) 37id & HHT FeIRT dcolal & |

(C) T 9erT & JdeT T AET Seolal (D) 37T T FHRT AT deol ¢ |

Question Id : 57
During the tonic clonic seizures the tonic phase is characterized by
(A) stiffening of the body (B) Jerking of the extremities
(C) Loosing consciousness (D) Confusion

Question Id : 58

AP Follfoleh JTRIGUT F NI clfcieh TRUT ST AT I8T0T g7
(A) 2T 31Hs ST &l (B) STEIET T Seeholl

(C) AT W (D) ¥H & fEufy

Question Id : 58
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59.

59.

60.

60.

61.

61.

62.

62.

63.

63.

The classic manifestations of the Parkinson’s disease is
(A) irritability, bradykinesia and seizures (B) irritability, bradykinesia and rigidity
(C) irritability, bradykinesia and tremor (D) tremor, bradykinesia and rigidity

et 9T T 3epse AHcafr HeT & &2
(A) e, A MRS gold-adeT 3R 3f@agor  (B) RsREma, A aiRe gaa-ads 3R Foar

(€) REfEH, FAe MAINE geld-geT 3R FHua (D) &9e, H MANF Feld-Tctel, FHAR

Question Id : 59
The point at which the nerve impulse is transmitted from one neuron to another is called as
(A) Glia (B) Myeline
(C) Nodes of Ranvier (D) Synapse

Question Id : 60
U foig STt & dfden 3T & U df¥en AR & qEl Al iffier 3 JeRor g § 38 Fet & |
(A) Feli3m (B) FmsforeT
(C) WMABR H 95 (D) Ta=cH

Question Id : 60

The nurse should explain to the patient with ostomy that the blanching and dark red to purple colour of the stoma

may indicate
(A) Visible stoma mucosa (B) Anemia
(C) Inadequate blood supply to the stoma or bowel (D) Obstruction to the stoma.

Question Id : 61

N F AN A 7 A T WA Afer 6 AT F gdeawor 3R TN e T F BT BT F g
ferenr Hehc 87

(A) T2AET HEh FgHiar (B) wehfaar
(C) @ A1 3T & 3Rie Tl 3Tt (D) @ T arer
Question Id : 61
Out of the following, the clinical skin manifestation of the cirrhosis of liver is
(A) Palmer erythema (B) Face erythema
(C) Neck erythema (D) Shoulder erythema
Question Id : 62
ot & & Fla IO X & T & A caar sifdcafFT g2
(A) AT caa AT (B) <RI i
(C) FCeT e foheta (D) TR e (ot
Question Id : 62
A thin, smooth layer of fibrous membrane that protects the kidney is called as
(A) Cortex (B) Medulla
(C) Capsule (D) Bowman'’s capsule
Question Id : 63
T Ie, WER Fell A Aot /e & i BT FHh & 3 FE &l
(A) FcaT (B) #Hsa
(C) Feger (D) ST Feger

Question Id : 63

Page: 15


ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight


64.

64.

65.

65.

66.

66.

67.

67.

If the patient with acute kidney injury receiving the ACE inhibitors, the nurse should cautiously monitor for
(A) Serum potassium level (B) Serum phosphate level
(C) Serum magnesium level (D) Serum copper level

Question Id : 64

I & H I e el Wl ACE HeAd/Saiicd ol & o o8 i Tawel ¥ g | fRed e
afge?

(A) IRF MERTH TR (B) IRHA HiTHT TR
() ORA FENRNTH &R (D) ¥RH W &R
Question Id : 64
The anaemia occurs in patients with chronic kidney disease due to
(A) Decreased plasma osmolality (B) Decreased plasma osmolarity
(C) Decreasd erythropoetin production (D) Decreased renin production
Question Id : 65
9E % Shifech/SIOT AT & wATAAT fhe aotg &8I 872
(A) T ToreHT JTEAEr (B) Erech g5 Colloalr JifealeRer
(C) ereaT g3 TSt 3cdmesT (D) AT & 3cureeT H FAr
Question Id : 65

During the physical examination of the patient for endocrine system, diminished axillary and pubic hair may
indicates the problem of

(A) Cortisol deficiency (B) Hypothyroidism

(C) Hyperthyroidism (D) Hyperparathyroidism

A& JoTelr & foIw W & ARG G807 & RIT FHF Feadr IR SToT drel fova TFEr o 5 a2
(A) sifedrer Fr wair (B) gEURIRRIESTH

(C) FRIIRRISEH (D) ERRRRRRIEEH

Question id: 66
Diabetes insipidus is caused by
(A) decreased production, secretion of thyroid hormone
(B) decreased production, secretion of insulin
(C) decreased production, secretion of parathyroid hormone
(D) decreased production, secretion of anti diuretic hormone
Question id: 67
HYNE SAATISH o HROT giT 57
(A) URRISs AT F G, e 7 FAr (B) $gfe=T & @@, 3cieet H ol
(C) :WRIRRISS gHlA & I, 3cUeaT & (D) TEY S A F Wd, 3cdicet H

Question Id : 67
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68.

68.

69.

69.

70.

70.

71.

71.

The spongy bones are called as

(A) Endosteum (B) Cortical
(C) cancellous (D) Ostones
(A) 3df&demer (B) dope
(€) gﬁ? (D) 3T

A sprain may be defined by
(A) injury to bone

(B) injury to ligamentous structures surrounding a joint

(C) excessive streching of a muscle, its fascial sheeth or a tendon

(D) injury to joints

AT I fohdeh GaRT IR foham ST HepcTl 872
(A) gz8r 7 dic

(B) &Y & I &g T3 7 <he
(C) P Fr 37caftw Rdara, saH dUee 3o A1 Hs |
(D) &fr F =

Spontaneous abortion is
(A) Natural loss of pregnancy before 20 weeks of gestation

(B) Natural loss of pregnancy after 28 weeks of gestation
(C) Loss of pregnancy due to medications before 20 weeks of gestation

(D) Natural loss of pregnancy after 22 weeks of gestation

Safereaa: T =T §?
(A) 7Y 3 20 HCAE Tgel IHEAT FHT Ahfcieh oJohdlleT

(B) 1Y % 28 HCAE & &I IHGEAT N Wicleh oJehallet
(C) Y % 20 FeCAE & Ugel IHEEAT T ST & HROT FehdlA
(D) 1Y & 22 Wecllg & dle IHIaEAT & Wil sfehdiet

The genitourinary clinical manifestations of estrogen deficiency is
(A) Hot flushes (B) Urinary tract infection

(C) Atrophic vaginitis (D) Dilated cervix

TEISTT & T T Siefotd]d elioteh Jifdeafaadn st @ §7?
(A) TRY geraet (B) o[ HRT & HheAoT

(C) Tt dfewiver (D) ¥elr g5 dfar

Question Id : 68

Question Id : 68

Question Id : 69

Question Id : 69

Question Id : 70

QuestionId : 70

QuestionId : 71

Question|d : 71
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72.

72.

73.

73.

74.

74.

75.

75.

The National Rural Health Mission was launched by Government of India on
(A) 7th April, 2005 (B) 12 th March, 2005

(C) 12 th April, 2005 (D) 12 th May, 2005

HRAT TR SaRT TG AT Ty AT el Y& Fohar Ir?
(A) 7 3T 2005 (B) 12 #RT 2005

(€) 12 314 2005 (D) 12 & 2005

The responsibility of the nurse in primary nursing care model is
(A) Providing care to patient or group of patients for a period of time

(B) Providing care to patient or group of patients during assigned shift
(C) working as team leader

(D) assisting in work of team leader

AR ARG STHTT Aisel 3 8 A [SFHERY = 872
(A) T a1 AR F Fogg A T GAT Y 30 & AU SEHS YT |

(B) @Iy 715 Iy & SRieT el a1 VTt & Togg ol SWHIT TeleT e |
(C) ol & oIl & T H FIH FeT|
(D) T & AT F FT F TgAT FLET |

According to Nightingale’s definition of Nursing, which of the following activity is nurse’s function?
(A) Providing the sponge bath to bed ridden patient.

(B) Providing antipyretic drug to the patient who has intermittent fever.
(C) Diagnosing the underlying pathophysiology of disease.

(D) Performing the lab tests of patients for cause of disease.

ARG § R A ARSI ¥ ITER AR AR & ¥ et & A R §
(A) foeaared W o TOT ST 9T el

(B) T SaX alel #AYST &l SRR &al Yeel aeT|
(C) Sy o e depc-2RR forarcaen foterer
(D) 3T & FRUT & AT AJYST HT TARIMAT TAGTOT T

Gerontology nursing deals with
(A) Care of patient with genetic problems (B) Care of older adults

(C) Care of patients in community settings (D) Care of patients with terminal illness

SR (SREesN) AT ey Fafd 30

(A) 37T FHEEA arer AT Hr @ (B) gy TR N ST
(C) FHerT sgae H A & W (D) oISelrsl AN arer AT & S@atTeT

QuestionId : 72

Question Id : 72

QuestionId : 73

QuestionId : 73

Question Id : 74

Question Id : 74

Question Id : 75

QuestionId : 75
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76.

76.

77.

77.

78.

78.

79.

79.

The regeneration during the healing process can be defined as
(A) Replacement of lost cells by connective tissue (B) Replacement of lost cells by mast cells

(C) Replacement of lost cells by same cells (D) Replacement of lost cells by white blood cells

QuestionId : 76

Yefoietel Y O 8T T GfshaT 3 eRIeT Ry g aRemiSa fovarm Swamr?
(A) ST 3cieh @R &ART g YT hIRAHIT Sl FfTeuTot

(B) #AREE SITRAHT GaRT 1M & el HIRAFIS T HfTEAdeT
(C) T HIRAHT G@RT RN Y Fehr PIRIAIIT T AU
(D) <&eT YercT hITRIEAT GaRT 1T & YT PIRIAIIT T AT

QuestionId : 76

The term autosome is defines as

(A) A chromosome that is not a sex chromosome (B) A chromosome that is sex chromosome
(C) All the DNA contained in an individual (D) The basic unit of hereditary information
QuestionId : 77
3T 2rec HE carefAd fRar Sirer g2
(A) ek ToRgH St fofar IURgE g B (B) weh U it fofar g B
(C) |3 DNA Ts =afad 7 glfeR (D) RIFFTT SFHRT & 3R SHrS
Question Id : 77
The cell mediated immunity is defined as
(A) Encounter of pathogen by B lymphocyte (B) Recognition of specific antigen by T cells
(C) Recognition of pathogens by neutrophills (D) Recognition of antigens by mast cells

QuestionId : 78

PR ALTEAAT ITAET & HT IR™T Har Jrar g2

(A) B foiFpIarse carT okl & T HHS (B) T snifRie garr faferse gfasir & ggareT
(C) ggrhred EarT JIMUBHT Hr T (D) HIEE FIAH GaRT Tliotd T Tgared

Question Id: 78
Oncotic pressure is defines as
(A) Osmotic pressure caused by plasma colloids in solution

(B) Force within a fluid compartment
(C) Force outside the fluid compartment
(D) Osmotic pressure by electrolytes in cells

3iAehiTeeh & I qiReT
(A) BT ¥ TAHHT eSS H dotg & UeT BT WIER0T ge

(B) TReT 9T & U & MR &
(C) TReT YT & U & TR &
(D) FfAA3T H Soacionse Fr dolg H RIERUT G

QuestionId : 79
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80. In which respiratory condition, you will find the paradoxical respiration?

(A) Atelectesis (B) Respiratory distress
(C) Tension pneumotorax (D) Flail chest
80. GHeT o et AT AT 7 WISiTordenel a8 fHo@M?
(A) TeoefEa (B) Y&y feeeH
(C) T =gHIeRTH (D) el =C
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3H WA-UT F T I ¥ Gg Foar et Fr o
Al & v Ry @

10.

11.
12.

13.

14.

15.

16.

17.

18.
19.

20

A TR N ol Y 3R U U & fow [RuiRa 3iw o\ g 2 § |
TR N Fel e H TG FIAT Sirer of o GRET F Fel 20 56 AR Tk OMR 3R 9o ofied IOl arell ¢ | 3afdal & @elg & Sl § fo
@Hmaﬁaﬁaﬁﬂt%wmwﬁ%mwﬁrOMRWWésmwyﬁ&raﬁwg%aﬂws@rﬁﬂ%aﬁw@r
&l 78 Tg & | OMR 3 U5h Ud e Fohore (JRiehl) & AR o1 Th-Tt gt =ifew | ol o v & fawerfd oe oy o 3mwelf
aRdieTh & SR gohore 3R OMR 3R T aGol oell =feT | SaT TS gt o die fefe geetel W Risradl <= = g1 far S |

39 giETR 3R OMR 3R 9k & 3O 370l JoT R fogetr 7 7 |

wet-gReTe 3R OMR 3R o9 o R o gos & o o w15 3k &1 A |

3T A TISC TN FORITT T &, O W g & F Wiar T T Wie 38 T )R Ruew g afiRe St Bﬁ@TgBﬂ%ls?Tqﬂ?fra?T
Rl oot 3R gaT GO giefl MfRU | 3 JfciRerd PET ST §31 Uoh URea-od, SR o Sisfaer oiigdied, #dard TRee-a, 3R
FS, TIECIC 31ME 3 T IS T T&T-Gegs T ol AT § | 3796 of gle¥ R 30T o ety 37 Warer &7 36y ofer &F et |

AT ToE & I & R T gRREd X o & 3T OMR StR-T9 3 A, I of. 3 Javere of. @1 o1 ¢ | A gopore 71, & fow fear
I T Well BNST Sl § A Toh & 3H0F geore o1, forg 8w a1w § a1 TdRigar & 3k Jer 7R g7 oR 910 § o S8 IToicd s 3 8R7 I/
FHolc of. AT ST 3R SR-THF 1 Hodichet g1 ol ST | gohole of. foreey 7 el o v &7 R o o gt 1 3wt w2 & oRomat
H 3T & foIT Soterdl g | qew-30l 3T ST¢ BTy & e[S 1 3R Afger-3nll 30w A g o IS H e SURRUTRTIR W, OMR 3R
T3% W AR Tafes e 3 & 3R 3R W | gEmnR o F |

adreT-gier 37 aRdiers & 3ufRafa 3 Al & gaeraT W & RAE 7 R & § AR WS & e & E

AR & Jareew & S § R T OMR 3T 3 oy o v 1 Jiwiaeass foRret o St 3R & 5% AT | OMR 3 o9& 7 Fo
forget 3R 31T & e 30 et & v 363, Age, o8, e kel Yerd / dTgeeR 3 & 92T a1 Rl 3 UohR & 34 &ffd Jgere oY et
A% § | o7 SER & T ¥ IR-GFF A OMR 3R 096 F U 93 @Y |, T & TRt @t X ar afy gy ) 3wl & snaf¥ar sk
OMR 3R 95 &t g folked & f&u Jrder |

3T B AT § S § R T S, Aaise Wi, R o YR A D), Soc, SoRRiieeh O TOR Tew 39, O, 9fRge, seR, R 3Rk
forar g3 et & T ool e wlietr-dhe; 3 o1 o SMY 3N o & 378, U, el 3 geter 1 ST AT AT 8 TP T 3BT Tt | BT IEIAT
& ary R o 3wl e odtemgier I vaer T fedr Sween | oAt & e R el & o A Aerse B @ W & A g o
Sooid 3O foRar 2T &, 9RY Sk & O 58 SAr & 9IR SeolteT AT Swen 3R GeT F 3ER 3Aar FRET # & el qur sfasy F o
STy arelr adiam3t # ufRrd @ W o Sfdeer o G STww | OMR 3R 99& W e & fow W3, ARG, o8, e el Tar/aTsesR Mg &
JORNST JRaT R 3 S A & ggael W 3Rl o OMR 3R 9ok foked & STeam AR 8 OMR 3R ek &1 F{edlicheT ofel fehdl STQaT |
fofed adeT & fA0er 7 9deT-des 7 T F Tger dome & HfARed, CCTV o, aridfes a7 & (s & et o 3uffa o, wier
e, AfsTardr 3 SR F7 g2 S A § afes wher a1 Ja o T 3N T 30T & VIS R $S g@0 T o & & |

ReT-hegs # IRGTT I &gt T We o INGTT & Taer 7 fodr o 30l & wrder w faar wigr R Sream |

uRdETR gaRT YaREaT A1 SURT U A 30l % e U gU WIS o TAee 3l F R sieem | 3nerl 3R 3Eh e % dce 3k
ugdel ¥ R o v A faweTfay oTe St o) 3t o e 7 R A g et & Sieel 3R g mofRies 3fier s v g |

38 OMR -3 & et 9faal §, aer i, 3mier of v 3n<elf 9fd | % &arf 3okt & &Y | OMR 3R o5 & el wfcrdr 31 aielr &
3TCRT-3T19T el of Y | 30 qdeT FATST glef W 3NUAIR, FR-GFh diell Tiarl o 3eeT R oer a7 aiSess & afT & | 3nrif gfa w1
ARYETR GaART 3T %k 3eg & & SMEN | 3l 31y Ay 36 adaT R B of S Fohl § |

IIF U & AR Jehiedeh R U T § O & o UF TG § | U WReT F 3R & folt OMR 3R 955 7 Fdol 38 U el U F T
& ¥ TORY 39 TEY 3R TSI & | TE IR RANIT @RT 3YGRY FIT T hael siel TT ol Sel-Ued T HeT § | el A Ry & Toiw Afger &
SRR T T § | A R 3R & fow & el @ amer R TR § o 39 SR T e A6 [ S |

qeTr & S 3R 3 e e & et Rl o sl @ graTee (STaoie/diReH) F STt i JgAf AET & St |

faer o 3R A OMR 3R U5 @iel s A Al 61 ¢ | I AS OMR 3R T3 @iel 1S 915 IRANETh 30 T "HE" F6T & g
3T EEAER I &1 3R 39 W "oRea” fog & |

T FR-THFH S ST FolFgI o1 Thietdl T F N ST | 3R A ek A T HIH I-T76 3T @ Thell ¢ |

THET 3T [JaR0T FaUIdh ST 3 T § | 3OR-976 & agond 1 At ofel & |

ST & TE IS T THT AT U & 7 TE Men/aiel B B | A 39 v T 30F el A Frer R § o 39R IR P ITeId AT
SEaT 3R WF FN H HediehsT Fa1 21T |

CORRECT METHOD / 71 7 WRONG METHODS / T 71

o] _lo]c)] OFOO OBROO® OOOO® PO

. TS IS 30T 3T TG F Aot e AT § A IETREA $T AT § ol 3T TAERNFER 38 Faeey FHrdarer am, 3N soh Aol 38
HaST 7 A ST arel et F o aRIT R ST ThaT | 36 favey HIORITE FEATET R 9 gof faRaT o TR & |
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